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Qt.
Choose the correct option for lbllorving questions. All the Questions are compulsory
antl carr v two marks each.

I The small, lxl pixel cookies implanted in banner ads are catled:

Opticn A: Devil Cookies
Option B: Web scum

Option C: Web bues
Option D: Backdoor

2. How do you kncrv if the infomration transmitted between the web brorvser and the web
server is secured rl

Opt on A: The browser usually displays a padlock icon, it may also disirlay a green a{dress
A pop-up windcw with SSI information comes up but it may also display a green
address bar.
There is no way to knriw if their connection is secr.rred

Option B

Cption C

Qpl'gl D,

-a-

individuals to a oassword and enter a PiN at the securitv sate before sainin

The SSt, Certificate is dispby.;c!_every tinre a secure u,ebsite is loadeC

Y
to the R&D facility. Therefore. you are askeci to irnplement a sl,stem that w'ili require

pa y gate ga
of stem called?

Authorization
Authentication
Two factor Associationn

tion D: Three lactor nrivac

The choice of whether to use lorv-overheacl cryptography versus heavyduty
in a micropayment scheme re s a hadeoffbetween:

Security and cosf
cost and performance

security and convenience
security, cost and performance

l lPaH€

tion A:
Option B:
Optiou C:

tion D:

social netwoikins sites are e iallv vulnerable to
Buffer overflow attacks

L iniection atracks

Non-persistent cross-site sci pti n g attack s

Persistent cross-site scripting attacks

What is the challenge ttom the netr,.,ork (i\4 SC) to authenticate the SIM card?
Option A: I the random number generated by the MSC

IMSI number senerateci by the N4SC

Option C:
Ontiorr D:

Orrtion B:

Option C: the sequence nurnber

Ontion l): tlie irrtesritv check k nerated by thc: 1l{SC

has the worst wireless securitr,' e ncrvption standard?

Option Il:
Optior, A:

Option C:

Option D: WPA2
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ion A:
op!gn-9.
Option C:

4.

5.

Option A
Option B:

6.

WPA
WEP
WPA3



8. A new way to process milk so that there is no fat in any cheese made no*lilJ.oreod
under

Ontion A: Patent
Option B: Copvrieht
Option C: Trade secret

Option D: Trademark

9.

Option A:

l-_
l To transf.r rn.t
ll't.-"*

Option B gryptqat
Option C: md5cat
Option D: netcat

10. In many countries wliich of the following key principle used ln:evOtution of computet
crime laws '

Option A:

Option B: 
]

Optr", C-l
Ol,tt, D l

lAllmembersoftheUnitedNaiionshaveagreedtouni
I comouter criare.

f-e;,stirg la*
I comouter crime.

r Tl,e ciefinition .,f proper.y' t'".'os c*t
p

I

r not a crime.

W . (s*a.tseact,l -
acquisitigr" atxl*post rnortern qursrt,on-

Explain different Targeted nralicious code

Explain ir-r brief Account Harvesring.

Solve any one 10 marks each
Explain with diagrary Federated Id@
How do phishing and ptrarniing attuckr tute@rent solurions ro
avoid phishine and phanning attack?.

Y4tg $ort note on Windou,s Registiy.

Compare and contra{jgry nci patent_
Explain how lle{bryg rn Depth securitl,strategy rs used to stop aduunced .yb.,=ttr.kt
Solve apy one _ ( l0 matls eactr)
Discuss ethical and legal issues ln computer securitl,.
Explain volatile data collectio:t procedure fur Unix s

Q3
A Solve any tlvo ( 5 marks each)
I I,ist the Unix operating system vulnerahilities
ll Differentiate between DAC ancl Ir.{AC models

lll Discuss the first generation of wireless security
B Solve any one ( 10 rriar'ks each)
I F,xplain Linearization attack rvith exarnple
1l Explain how security is provided in UMTS.

Solve any tlvo 5 marks each
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